go

} [pb/GeV]

[EEY

Ratio to ATLAS

0.5

130

00 GeV pp

tt

| ' | | ' ' ' |
= top E
- Pout (ATLAS ttbar) -
- = ]
N | -
- "tzt. N

=.I®
- SSS \:\ [ | N
i‘\\:\\

- 9, 3
— \Q;I;\\,. " .
— m  ATLAS \%’i‘x |
- - o- Pythia6.428390 %y |
| -&- Pythia6.428391 % —
= — - Pythia 6.428 392 el m -
— .+ Pythia 6.428 396 S -
~ %~ Pythia 6.428 397 ~F j
~  --¥-- Pythia 6.428 398 |
:| | | | | | | | | | IZ
! . 1 ' I ' ' ' | ' =
B ) ‘/‘_/%‘.i:l:?':\:r —————————————— I |
N ‘;Zjijé.::::%f"/;’;;: ~.:‘_~:\‘..;-_;\_.;_.:~~~~ “““ ? ]

| @ T N A SRR | . .

1
P’ | [GeV]

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


